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669 459 178 19 9 4
669 459 178] 19 9 4 100.0, 086, 26,6 2.8 1.3 0.0
100.0] 68.6] 26.6] 2.8 3 6 1000 ss.8l 309 5.2 > i
69 37 24 3 3 2 43 31 11 - - 1
100.0] 53.6] 34.8] 4.3 3 9 100.0| 72.1] 2526 - - .3
151] 100 41 8 2 - 120 88 28 2 2 -
100.0] 66.2] 27.2] 53 3 - 100.0L 78.3, 23.8, 1.7, 1.7 -
89 59 27 3 - -

25 15 61 4 2 1 _
100.0| e9.8 27.1] 1.8] 0.9] 0.4 100068 203 .4
121 90 28 2 - 1 100.0| 74.1] 25.9 - - -
1000 744 231 17 - 8 24 16 2 - -
39 30 7 1 1 _ 100.0] 66.7] 25.0 8.3 - -
66 53 11 - 1 1
100.0f 76.9] 17.9] 2.6 6 1008 8% - B 1
100al easl seal 13 : _ 7 54 18 3 1 2
= 100.0] 68.4] 24.1 3.8 -3 -5
12 9 3 - - - 93 58 31 4 - -
100.01 75 .01 25.0 - 100.0] 62.4] 33.3 4.3 - -




669 58] 191 15 24 10 13

100.0| 8.7 28.6] 23. 36.2] 1.5 1.9

669 58| 191 155 242 10 13 97 11 28 20 38 - -
100.0f 8.7f 28.6] 23.21 36.2 1.5 1.9 100.0f 11.3] 28.9] 20.6] 39.2 - -
69 5 23 11 27 - 3 43 4 7 10 20 2 -
0000 721 333] 159] 391 -l 43 100.0] 9.3] 16.3] 23.3] 46.5] 4.7 -
151 9 41 31 63 1 6 120 12 37 25 40 3 3
woad sol 2790 205 a1 7l o7l 4 100.0] 10.0| 30.8] 20.8] 33.3] 2.5| 2.5
228 10| el s s i 1 100%0| 10.3] sa’s| 220 20% I 43
100.0| 8.4] 27.1] 24.0] 39.6] 0.4 0.4 58 7 14 18 18 _ 1
121 13 34 37 33 1 3 100.0| 12.1] 24.31] 31.0f 31.0 - 1.7
100.0l 10.7{ 28.1] 306/ 27.3] 08 2.5 24 2 9 3 9 - 1
39 7 7 1 11 3 _ 100.0| 8.3 37.5| 12.5| 37.5 -l 4.2
66 3 18 18 20 5 2

100.00 1791 17.9. 8.0, PB. 2L 7.7 = 100.0] 4.5 27.3] 27.3] 30.3] 7.6] 3.0
52 4 19 11 16 2 - 79 4 23 20 28 - 4
12 1 6 - 3 2 - 93 6 24 19 43 - 1
100,01 8.31 50.0 -1 25.0] 16.7 - 100.0] 6.5 25.8] 20.4] 46.2 =




7.5%

669 50 590 15 14
100.0 7.5 88.2 2 .2 2.1
69 13 53 3
100.0 18.8 76.8 = 4.3
151 11 134 3 3
100.0 7.3 88 .7 2.0 2.0
225 15 200 7 3
100.0 6.7 88.9 3.1 1.3
121 6 109 2 4
100.0 5.0 90.1 1.7 3.3
39 2 36 1 -
100.0 5.1 92.3 2.6 -
52 2 47 2 1
100.0 3.8 90.4 3.8 1.9
12 1 11 - -
100.0 8.3 91.7 = =
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